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PART—A

( Business Mathematics )
( Marks : 32)

1. @ofe full 2o Teq f - 1x3=3

Answer the following questions :

(@) CToFwq wge faan |

Define matrix.
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(L2%)

) ;M fx)=x+]|x|, 5B f(-1) Ficfy =1
If f(x) = x+|x|, then determine f(=1).
fc) I 7 [F2

What is effective rate of interest?

136 1 3 x b
2. zﬁ[o OHIJ{OJE, SR’ x 3 97 foicfy

41 3

125413 X
If = i
[O O][l] [O}’ then determine the

value of x.

3. CFIRI g AT IR AT F4q1 6
Solve using Cramer’s rule :
2x+y+z=4
X+y+z=3
x+3y+z=5

5931/ Or
| 1 220
MWMA=2 1 2|, corz’ta A~ g =41 1
iy
1 280
IfA=|2 1 2/, then determine AL
R |
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4. TF Qefy 9 3
Find the value of

2
5. ’Jﬁ‘y=xlogx,C@C@d—2gﬁ°ﬁTWl 6
dx

d>2
If y = xlog x, then determine £ Y .
R

&<<1/ Or

2x° —21x? +36x - 20 ¥ q7EN F FESH T
ety w4 |

Determine the maximum and minimum
values of the function 2x3 —21x2 +36x — 20.

6. 1 C T b&qfa oI A1 2 2

What is the difference between simple interest
and compound interest?

7. 9% PR 36,000 TF TG TGRF 4% W 4%%
T 45 et | 6 T I (w6 TR o1
ROt 5 9,240 B3 *i1caT | WrpzE wTE, R G
e fafest 2 4
A man lent ¥ 36,000 to two persons at 4% and
4'2% respectively. After 6 years, he received

¥9,240 in all from them as interest. How
much did he lend to each of them?
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U8

8. T|R 6% INCFA YOI IR LA R-IW wig
o1 TR W2 5

What will be the nominal rate of interest
convertible half-yearly when the effective rate
is 6% p.a.?

2l

PART—B

( Business Statistics )
( Marks : 48)

9. e s FotrEa Tew 1x5=5

Answer the following as directed :

(@) <51 FF AR ToReR AN 0

Name the components of a time series.

(b) T AYRACS _____ (J AP 0 A |
( 1 o1 +FI 1)
Index number is usually expressed in
form.

( Fill in the gap )

(c) FEA Aice fumn |

Define correlation.
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(S)

(d) I[N Go1 R oy

Write one merit of mode.

(e) M 2x-3y+4=0 OF § =6, (3B x Wf
Ll

If 2x-3y+4 =0, y =6, then determine
X

10. (a) 92T (b) &F Teq T4 :
Answer either (a) or (b) :

(@) (i) oo T ouRET o[ M Reg s 3

Determine median from the
following data :

o6, 8pr8,19,53, 6

(ii) wore fum oRMT ~/1 R My A

<9l =
Determine AM from the following
data :
TR &5 25 35 45 55 65
Mid-point
VRYTCOE SRS 2 .4 1. 2
Frequency

(i) R @ 951 TR AT 29 A @
For any two values, prove that

AM 2 GM > HM o
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(6)

Y1/ Or
®) @ GO R TEETSE T W iy A

Which measure of dispersion ig the
best and why?

(@) G @Bl @A 500 & FoiR
TRE  WRE TS 5,000 T
REANDE 4 WE  IREm FoEe
TR FWARR AT FAS 5,200 F W
4,200 TF1 1 QIENGR 4F7 TR
7R T 2 =

The mean monthly salary of 500
employees of a company is € 5,000.
The mean monthly salaries of male
and female employees are ¥ 5,200
and ¥4,200 respectively. Find the
number of male employees of the
company.

(iii) @&Te frgl @R “[1 {699 @@ T oy
91 : 6
Determine the coefficient of
variation from the data given below :

‘75? : 0-10 1020 20-30 3040 40-50
Marks
BIg9 I ’ 8 13 16 8 5

No. of students
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e )

11. (a) %7 (b) TR TSI A
Answer either (a) or (b) :

(@)

(b)

() I Pragees s gare e [
@12 TR AR 2 2+1=3
What is Karl Pearson’s coefficient of
correlation? What is its range?

(i) e Tra wURFR o[ @16 TR
QIRFI AW T F91 :

Determine the coefficient of rank
correlation from the following data :

S

Blil64 68 72 764, 80

5

BelEo 54 66 59 73

(iii) wae fran SYRET [T T HAF
7'131 Tfersar -
From the following data, find the two
regression lines :

X =90, ¥ =70, N=10, £X? = 6360,
yY2 =2860, XY =3900

w3/ Or

(i) 1 PiaveE T 2R ofidere BT 3

Write the properties of Karl
Pearson’s coefficient of correlation.



(8)

(i) " wI®R r=0-5 Edxdy =120,
Zdx? =90, 0, = 8. AR 7R fefy
¥ 5
Given =105, Xdxdy =120,
Sdx? =90, o, =8. Determine the
number of pairs of items.

(iii) ST fr O o[ XJ AATF Y I
SRR ANFIT AT T4 7

From the data given below, find the
regression equation of Y on X :

XS 42 20 S50 72 64
TR G824 60 84 68

12. (a) 977 (b) SR Te 341 :
Answer either (a) or (b) :

(@ () <o I AFe I wEFer e
3o 7 Tz e o 3

What do you mean by seasonal
variation in a time series? Give
examples.

(ii) 7S faar ©UF o[ 3 IR/ HoT oG Ay
ET | 5

Determine 3-yearly moving average
from the following data :

=’ »+ 2010802011 2012 2013 20147 2018 2016
Year
e 3 18 24 25 20 16 8 2
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(" 9%

(W) o =1 @ R paras seoms

AMEEN % S aferar <@ ik
IEN
Prove that Fisher’s index number

satisfies factor reversal and time
reversal test.

9T/ Or
() <O I e R el Jfoicer
&1 7 Tt fia |
What do you mean by secular trend
in a time series? Give examples.
@) oS i o omr VR i e
PR fRefy
Determine cost of living index
number from the data given below :
Rert oI =
Group Index No. Weight
FCA_ 360 40
Clothing
My 300 25
Food
T F T 267 7
Fuel and lighting
Q{q T 120 8
House rent
I 320 20
Others
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(10 )

(iii) Fuey 35 gt AT B wore firay
BYF Oq A0S (@A [y -
Using least square methoqd

determine trend line equation for
the following data :

6

ELT : 2006 2007 2008 2009 2010

Year
Teomiay EIOORNTI20° 140 160 180
Production

* % %
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